60-s bins
1.5 o
1.0
0.5 H
0.0
000 .00.000
6:00: -00. 0:00:00-
20240V 0T 024 e Oﬂ 2024-033072
Time (utc)
60-s bins
1.0 A
0.5 +
0.0
000 .00.000
:00:00-0 .00:00-
2028 01~ 30T1 024 01_30"16 24-01- 30T120:
Time (utc)
60-s bins

1.0

0.5

0.0

2024-01-

30T1

024 or

00:00- Of
30'“60 4.01-3

Time (utc)

0
%-\-7_0‘.00'-00

000

Latitude

Latitude

Latitude

30901032002 FPMA: No SAA Filter 50.39-ks, 100%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0OPTIMIZED --tentacle=no 49.89-ks, 99%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 49.89-ks, 99%

0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



Latitude

Latitude

Latitude

60-s bins
1.5
1.0 H
0.5 1
0.0
00:00.0 0:00.000 _  14.00.000
2024-0% 301120 24013 one OzA 01-30720:0
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00.0 00.000__  40:00.000
2028033977 ;_)A 01-3 ome 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00:00.0 0:00.000__  11.00.000
2024-01- 301120 24013 one 02 “01-30120:0

Time (utc)

30901032002 FPMA: No SAA Filter 50.39-ks, 100%

= _::l:: '.J_?;zij.-:

o \—"h.

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=STRICT --tentacle=no 46.87-ks, 93%

0 50 100 150 200 250 300 350
Longitude

--saacalc=1 -saamode=STRICT --tentacle=yes 46.87-ks, 93%

0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



Latitude

Latitude

Latitude

60-s bins
1.5
1.0 H
0.5 1
0.0
00.0 00.000__  10:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00:00.0 0:00.000 _  14.00.000
2024-0% 301120 24013 one OzA 01-30720:0
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00:00.0 0:00.000__  11.00.000
2024-01- 301120 24013 one 02 “01-30120:0

Time (utc)

30901032002 FPMA: No SAA Filter 50.39-ks, 100%

= _::l:: '.J_?;zij.-:

o \—"h.

0 50 100 150 200 250 300 350
Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no 50.10-ks, 99%

0 50 100 150 200 250 300 350
Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes 50.10-ks, 99%

0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



Latitude

Latitude

Latitude

60-s bins
1.5 1
1.0 1
0.5 A
0.0
00.0 00.000__  10:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0 .l
00.0 00.000__  40:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0 .l
0. 0.00 .00:00.000
2024-01:3072¢ ;)Aom- oris: 02 013 o20:000

Time (utc)

30901032002 FPMA: No SAA Filter

o

50.39-ks, 100%

'.J_::Irﬁ:'.\l---l.'
£y

o \—"h.

0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no 46.19-ks, 92%

0 50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 46.19-ks, 92%

150 200 250 300 350

Longitude

100

100

100

cts/sec

cts/sec

cts/sec



Latitude

Latitude

Latitude

60-s bins
1.5
1.0 H
0.5 1
0.0
00.0 00.000__  10:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00:00.0 0:00.000 _  14.00.000
2024-0% 301120 24013 one OzA 01-30720:0
Time (utc)
60-s bins
1.0 1
0.5 1
0.0
00:00.0 0:00.000__  11.00.000
2024-01- 301120 24013 one 02 “01-30120:0

Time (utc)

30901032002 FPMA: No SAA Filter 50.39-ks, 100%

= _::l:: '.J_?;zij.-:

o \—"h.

0 50 100 150 200 250 300 350
Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=no 50.10-ks, 99%

0 50 100 150 200 250 300 350
Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes 50.10-ks, 99%

0 50 100 150 200 250 300 350
Longitude

100

100

100

cts/sec

cts/sec

cts/sec



Latitude

Latitude

Latitude

60-s bins
1.5 1
1.0 1
0.5 A
0.0
00.0 00.000__  10:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0 .l
00.0 00.000__  40:00.000
2024-0% 30112 ;)A 013 one 024 01-30720:00
Time (utc)
60-s bins
1.0 1
0.5 1
0.0 .l
0. 0.00 .00:00.000
2024-01:3072¢ ;)Aom- oris: 02 013 o20:000

Time (utc)

30901032002 FPMA: No SAA Filter

o

50.39-ks, 100%

'.J_::Irﬁ:'.\l---l.'
£y

o \—"h.

0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no 46.19-ks, 92%

0 50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 46.19-ks, 92%

150 200 250 300 350

Longitude

100

100

100

cts/sec

cts/sec

cts/sec



